@GEARBOSS®

Owner's Manual

Side Closure Accessory

for GearBoss® X-Cart™ and Team Cart™

Basic Instructions only!

For more detailed product information, refer to the
GearBoss High-Density Storage System Owner’s Manual 240A099.

instructions.

ACAUTION ACAUTION ACAUTION
Make sure anyone assembling, Failure to comply with Warnings and To help avoid damage,
installing or using this product Cautions in this document or on the more than one person is

has read and understands these | |equipment can result in damage to

property or serious injury.

needed for installation.

Contents

X-Cart with Side Closure

Required Tools. . ................
Supplied Hardware . .............
PartsList......... ... ... ... ...

Ok

...................... 2 Side Closure Installation
...................... 2 Replacement Parts . .. . ..
2

Note: Please read and understand these instructions before proceeding.
Note: If you need additional information, contact Wenger Corporation using the information below.

©Wenger Corporation 2024

Printed in USA 2024-09

Part #240A096-03

Wenger Corporation, 555 Park Drive, P.O. Box 448, Owatonna, Minnesota 55060-0448

Questions? Call.....USA: (800) 4WENGER (493-6437) « Worldwide: +1-507-455-4100 * wengercorp.com



Required Tools

Cordless drill
9/16" Combination wrench

Supplied Hardware

©
Bl

Dome Plug 3/8" 3/8x1-1/4"
Hex Nut Insert Bit Flat Washer

©) ®

3/8-16x1-1/4" 3/8-16 1/4-14x3/4"
Carriage Bolt Acorn Nut Self-drilling Screw

Parts List

Item|Qty |Description

1 3 Side Closure Panel

2 3 Dome Plug

3 3 Side Closure Top Bracket

4 6 Side Closure Outer Bracket

5 2 Side Closure Connector Plate

6 17 3/8 x 1-1/4" Flat Washer**

7 7 1/4-14 x 3/4" Self-drilling Screw**

8 23 3/8-16 x 1-1/4" Carriage Bolt**

9 23 3/8-16 Acorn Nut**

10 |1 3/8" Hex Nut Drive Bit**

11 1 1" x 73" Velcro Tape

**Item is not shown, refer to Supplied Hardware




Side Closure Installation

The following Installation Instructions are the same for the side closure installation to a 32" (813 mm)
X-Cart, a 48" (1219 mm) X-Cart, or a Team Cart.

Before Starting the Side Closure Installation
1. Move the side closure carton to the work area (it is best to use a work table).

2. Open the carton and inventory the contents. Make sure that all of the required items listed in the Parts List
are present including the hardware items. Discard the packing materials and corrugated carton.

Not all hardware items packed in the carton may be needed. When the assembly is complete, discard
any hardware items not used.

Attach the Top Brackets
1. Place one of the side closure panels onto the work surface with the two top bracket mounting holes at the
top as shown below. The four outer bracket mounting holes will be at the bottom.

NOTICE

The side closure panel surface facing upward will
be the outside surface after installation.

If the connector plate mounting hole is on the right,
the second side closure panel to be assembled in
step 3 must be placed onto the work surface with
the connector plate mounting hole on the left side.

Side Closure
Top Bracket
Mounting Hole

E.P e d j
LI,/
kEP =
e YN
Top Bracket I -
Mounting Holes - Acorn Nut
1
&~~~ 3/8-16 x 1-1/4"

Carriage Bolt

Side Closure
Top Bracket

2. Attach the top bracket to the side closure panel.

a. Insert the side closure panel top edge into
the side closure top bracket lower channel
with the flat side of the top bracket facing
downward (refer to the illustrations).

b. Insert a 3/8-16 x 1-1/4" carriage bolt into
each side closure top bracket mounting hole
as shown.

c. Using a 9/16" combination wrench, attach
a 3/8-16 acorn nut to each carriage bolt.

3. Repeat steps 1 to 2 with the other two side closure panels.

Inside surface of the
side closure panel
Side Closure
Top Bracket

Side Closure Aﬁb‘é
Top Bracket ——————— > X

Lower Channel

Outer Bracket
Mounting Holes

Side Closure

The flat surface of the side closure top bracket Panel
ane

must rest on the work surface when assembled




Side Closure Installation (continued)

Attach the Outer Brackets
1. Place one of the side closure panels onto the work surface with flat side of the top bracket facing downward
as shown.

2. Insert two carriage bolts, 3/8-16 x 1-1/4", through the two clearance holes in the outer bracket and side
closure panel.

3. Using a 9/16" combination wrench, attach two 3/8-16 acorn nuts and two 3/8 x 1-1/4" flat washers to the
two carriage bolts as shown.

4. Attach a second outer bracket to the other side of the side closure panel in the same manner.
5. Repeat steps 1 to 4 with the other two side closure panels.

3/8-16
Acorn Nut

3/8x1-1/4"
Flat Washer

Outer Bracket

3/8-16 x 1-1/4"
Carriage Bolt

The flat surface of the side closure top bracket must
face downward when attaching the outer bracket




Side Closure Installation continued

Attach Velcro Tape to the Cart
1. Attach the Velcro tape to the top panel extrusion on the side that the side closure panels will be installed.

a. Peel about 12" of the protective liner from one end of the Velcro tape.

b. Press the end of the Velcro tape with the exposed adhesive onto the top panel extrusion outer leg with
about one-half of the tape width hanging below the outer leg edge as shown below.

c. Continue to peel the protective liner from the Velcro tape and attach the Velcro tape to the entire length
of the top panel extrusion.

ACAUTION

Never stand on the cart.

It may be necessary to use a
step stool to reach the top.

Top Panel Extrusion
Outer Leg

Top Panel Extrusion
Outer Leg

~ =

Velcro Tape

Velcro Tape
Protective Liner

~ \
Only attach about half of the

width of the tape to the top
panel extrusion outer leg

Velcro Tape

2. Fold the Velcro tape around the top panel extrusion outer leg so that the tape is attached to the inside and
outside surface of the outer leg. Make sure that the Velcro tape is firmly attached to the entire length of both

sides of the top panel extrusion outer leg.

\ Top Panel

Extrusion Outer Leg

\Velcro Tape

/

Make sure that the velcro tape is firmly
attached to the entire length of both sides
of the top panel extrusion outer leg




Side Closure Installation (continued)
Attach the Side Closure Panels to the Cart

1. Place the side closure panel into position in the cart.

a. Fit the top bracket upper channel onto the top panel extrusion outer leg as shown in the
illustration below.

b. Place the bottom surface of the two outer brackets onto the top surface of the chassis side rail. Make sure
that the vertical inside surface of the two outer brackets is pushed against the inside of the chassis side rail.

Outside View

Top Bracket

\ Upper Channel
. /
» q% O

Top Panel Make sure that the outside leg
Extrusion of the top bracket is visible
Outer Leg from the outside of the cart
Side Closure
Panel
Inside View ' ¥
e - | S
=
Saas== j;“l Make sure that the outer bracket
Nﬂ | vertical and horizontal surfaces
\\QX rest on the chassis side rail
= =
Side Closure \\:§
Panel e
A
= |
= | |
Q\ I~
N | % ~
Chassis =
Side Rail - =y
===
— ;E

o2

Side Rail
Outer
Bracket




Side Closure Installation (continued)

2. Place the side closure panel into the cart.
a. Fit the top bracket upper channel onto the top panel extrusion outer leg.

b. Place the bottom surface of the two outer brackets onto the top surface of the chassis side rail.
Make sure that the vertical inside surface of the two outer brackets is pushed against the inside of the
chassis side rail.

Side Closure
Panels

3. Place the side closure panel into the cart between the side closure panels in the same way as done in steps
1 and 2. It may be necessary to adjust the edge closure end panel positions to allow room for the middle
side closure.

2

P

N / Middle Closure

Panel




Side Closure Installation (continued)

Attach the Connector Plates
1. Assemble a connector plate to the right side closure panel and the middle side closure panel.

a.

Align the connector plate clearance holes (square) to the connector plate mounting holes
on the right side closure panel and the right side of the middle side closure panel.

Insert two 3/8-16 x 1-1/4" carriage bolts through the clearance and mounting holes. Push the square
shoulder of each carriage bolt fully into the two connector plate clearance holes (square). It may be
necessary to adjust the horizontal position of the two side closure panels to achieve alignment.

Using a 9/16" combination wrench, attach a flat washer and a 3/8-16 acorn nut to each carriage bolt.
It may be necessary for two people to work together to prevent the carriage bolt from being pushed out
of the holes.

2. Attach a second connector plate to the left side closure panel and the middle side closure panel in the same
way as done steps 1a, 1b, and 1c.

3/8-16
Acorn Nut

3/8 x 1-1/4"
Flat Washer

/@/\\\

Connector Plate
Mounting Holes

3/8-16 x 1-1/4"
Carriage Bolt

U

= //ﬁ
C t
2 g
x@/ Right Side
& Closure Panel
% Ajdle Side
. / Closure Panel




Side Closure Installation (continued)

Attach the Outer Brackets to the Cart
1. Using a cordless drill with a 3/8" hex nut drive bit, attach each of the six outer brackets to the chassis side

rail with six 1/4-14x3/4" self-drive screws as shown below. Use the outer bracket pilot hole as a pilot when
driving the screw into the chassis side rail.

Make sure that the side closure panel assembly is centered (left-to-right) on the cart.

Self-drill Screw
1/4-14x3/4"

4 Chassis
i | Side Rail

[% AN Outer Bracket
Pilot Hole

Chassis I
Side Rail




Side Closure Installation (continued)

Insert Dome Plugs
1. Insert a dome plug into each open hole on the outside surface of both the left and right side closure panels.

10



Replacement Parts

g
3

Description

Side Closure Panel

Side Closure Outer Bracket
Side Closure Connector Plate
Side Closure Top Bracket
3/8-16 Acorn Nut

3/8 x 1-1/4" Flat Washer
1/4-14 x 3/4" Self-drilling Screw
3/8-16 x 1-1/4" Carriage Bolt

0 [Dome Plug

=lOo|lo|IN|O|JO|dR|W|~

11



This page is intentionally blank.

12



